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1.6 Buzzer_Control1 oA

int BuzzerPin = 8; //Buzzer?} &4 =l
void setup(){
pinMode(BuzzerPin,OUTPUT); //Buzzer & 8o = A7

I

~ O|
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}

void loop(){
tone(BuzzerPin,262);
delay(500);

noTone(BuzzerPin);
delay(500);

tone(BuzzerPin,294);
delay(500);




1.6 Buzzer_Control1 OH (AHZ)

noTone(BuzzerPin);
delay(500);
tone(BuzzerPin,330);
delay(500);
noTone(BuzzerPin);
delay(500);
tone(BuzzerPin,349);
delay(500);
noTone(BuzzerPin);
delay(500);
tone(BuzzerPin,392);
delay(500);
noTone(BuzzerPin);
delay(500);




1.6 Buzzer_Control1 OH (AHZ)

tone(BuzzerPin,440);
delay(500);
noTone(BuzzerPin);
delay(500);
tone(BuzzerPin,494);
delay(500);
noTone(BuzzerPin);
delay(500);
tone(BuzzerPin,523);
delay(500);
noTone(BuzzerPin);

delay(500);
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2.1 Buzzer_Control2 Of| A

int piezo = §;

long Do = 262, Re = 294, mi=330, pa=349, sol=392, ra=440, si=494,

long music_data[24]={sol, sol, ra, ra, sol, sol, mi, sol, sol, mi, mi, Re,

sol, sol, ra, ra, sol, sol, mi, sol, mi, Re, mi, Do};

long DelayTime[24]={400, 400, 400, 400, 400, 400, 600, 400, 400, 400, 400,
800, 400, 400, 400, 400, 400, 400, 600, 400, 400, 400, 400, 600},

void setup(){
pinMode(piezo,OUTPUT);



2.2 Buzzer_Control2 Of| A

void loop(){

for(int j=0; j<24; j++)

{
tone(piezo,music_data[j]);
delay(300);
noTone(piezo);
delay(DelayTimel[j]);

}

delay(2000);
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1.3 RearSensorbyPSD O A

#include <MsTimer2.h> //EfO|H 2+ 2lo|E 22| M

int BuzzerPin = 8; //Buzzer @ HA=l T H=z MO Sl

—

7|12

==
unsigned int g_unSensorValue = 0; //PSD MIA gt 2t H MO Bl X 7|3}
void setup(){
pinMode(BuzzerPin,OUTPUT); //C|X|& Q=21 A ¥ I =02 MY
MsTimer2:set(50,SensorRead); //E}O|H A™,50ms 7|2 SensorRead()
=5
MsTimer2::start();
}
void SensorRead(){

g_unSensorValue = analogRead(A0); //A0 T2 A/D AH B H0ff XZE



1.3 RearSensorbyPSD oA (A=)

void BuzzerContol(int Freq, int PlayTime){

tone(BuzzerPin,Freq);
delay(PlayTime);
}
void BuzzerStop(){
noTone(BuzzerPin); //S2 X EX|
}
void Buzzer_sequence(int PlayTime){
BuzzerContol(523,PlayTime); //5. X MO &+ 2=
delay(PlayTime); //PlayTime BtZ X| A

BuzzerStop(); /52X BX| &5 2=



1.3 RearSensorbyPSD oA (A=)

//PSD AN Zt= Bl St0] X E Moo= =0 S2l= 7|5 EE

= Ha=E BAT

Mot
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void RearSensorbyPSD_sequence (void){

if (g_unSensorValue < 600 && g_unSensorValue >= 460) {Buzzer_sequence(60);}

else if (g_unSensorValue < 460 && g_unSensorValue >= 350) {Buzzer_sequence(100);}
else if (g_unSensorValue < 350 && g_unSensorValue >= 230) {Buzzer_sequence(200);}
else if (g_unSensorValue < 230 && g_unSensorValue >= 180) {Buzzer_sequence(300);}
else if (g_unSensorValue < 180 && g_unSensorValue >= 150) {Buzzer_sequence(400);}

else {}

}
void loop(){

RearSensorbyPSD_sequence(); //5 X F7| HE & 2=



